1/. Could you please plot this function?
This was previously solved by you, however the plot was not provided.
Thus, solution will be
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image2.png
A particle moves along the trajectory shown in Fig. 2 and is acted upon by
the force
F=32%+3y%.

() Caleulate the work W done by the force on the particle using the defi-

nition of the work
W= /F ~dr.

(b) Find the potential of the force F.

(c) Calculate the work using the potential and compare to your answer in

(a).
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Figure 2: Path of the particle.




